

Multiply by 10^{-1} (H)

Find each product.

$25 \times 10^{-1} =$

$72 \times 10^{-1} =$

$42 \times 10^{-1} =$

$8 \times 10^{-1} =$

$15 \times 10^{-1} =$

$9 \times 10^{-1} =$

$17 \times 10^{-1} =$

$17 \times 10^{-1} =$

$53 \times 10^{-1} =$

$73 \times 10^{-1} =$

$17 \times 10^{-1} =$

$84 \times 10^{-1} =$

$28 \times 10^{-1} =$

$71 \times 10^{-1} =$

$58 \times 10^{-1} =$

$26 \times 10^{-1} =$

$13 \times 10^{-1} =$

$87 \times 10^{-1} =$

$87 \times 10^{-1} =$

$53 \times 10^{-1} =$